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US03CBOTO01: Lower Cryptogams And Plant Pathology
Date: 24/09/2022 Time: 12:30 pm to 2:30pm

Day: Saturday Total marks:- 70
Note:- Draw nea-t and labelled diagram wherever necessary.
Q-1 Multiple choice questions (Compulsory) (10)
(1) The fruting body of Polysiphoniaiscalled
(a) Basidiocarp (b) Cystocarp (c) Ascocarp (d) None of these

(2) Gloeotrichia is an example of thallus. '
(a) Filamentous (b) Branched (¢) Unicellular (d) All of these

{3) The basal heterocyst is found in
(a) Rivularia (b) Cladophora (c) Gloeotrichia (d) None of these

(4) Ergot is obtained from .
{a) Penicillium (b) Cleviceps (¢) Rhizopus (d) Agaricus

(5) Mycorrhiza is a symbiotic relationship between
(a) Fungi & roots of higher plants (b) Algae & fungi
{¢) Algae & Bryophytes (d) None of these

(6) By which microbe citric acid is obtained?
(2) Lactobacillus (b) Yeast (c) Agaricus (d) Aspergillus niger

(7) The fruting body of Peziza is------- .
() Basidiocarp (b) Apothecium (¢} Cleistothecium (d) None of these

(8) Rust of wheat is caused by
(a) Puccinia (b} Colletotrichum (¢} Alternaria (d) Fusarivm

{9} Muriform conidia is found in
(a) Alternaria  (b) Colletotrichum (c) Cercospora (d) Fusarium

(10) Yellowing of the leaves is known as
(a) Tylosis - {b) Florosis (¢) Chlorosis (d) None of these

@) (P70




Q. 2 Iill in the blanks/ write True or Flase (08)

I. Study of algae is called----euen- . (Mycology/ phycology)
2. Study of--m-mm- is called mycology. (algae/ fungi)
3. Fusarium caused the_ disease in arhar. . (rust/ wilt)
4. Puccinia belongsto the class-—-m--a-x . (Basidiomycetes/ Phacophyta)
3. Cup shaped chloroplast is found in Polysiphonia. (true/ flase)
6. Yeast is called green mould. (true/ tlase)
7. Association of fungi & bryophytes is called Mycorrhiza, (true/ flase)
8. Peziza is called cup fungi, (true/ flase)
Q. 3 Answer the following (Any Ten) 20)

(1) Sketch and label Glocotrichia filament

(2) What is cystocarp?

(3) Whatis cogamy?

(4) What is Mycorrhiza?

(5) Write the classification of Ppthinum.

(6) Sketch and label Aspergilius thallus,

(7) What is diplontic stage of Saprolegnia?

(8) Write the classification of Peziza.

(9) Write the structure of conidia of Alternaria.
(10) Give the name of causal organism of Citrus canker and early blight of petato.
(11) What is localized disease?.

(12) Write symptoms of smut disease.

Q-3 Attempt any four (32)

1. Describe asexual reproduction int Vancheria.
2. Write the use of algae as food and fodder.

3. Describe asexual reproduction in 4/bugo.

4. Describe economic jimportance in fungi.
5. Explain the L.S. of Peziza apothecium with diagram,
6. Describe asexual reproduction in Aspergillus.

7. Write the causal organism, symptoms and control measures of “Tikka disease
of ground nut™.

8. Describe the classification of plant disease in detail.
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